中国地质大学(北京)继续教育学院2012年春季入学测试
《大学语文、大学英语》综合模拟题
大学语文部分：
一、选择题： 

1 . “既来之，则安之”这句古语出自（A）
A ．《论语》        B ．《庄子》 
C ．《孟子》        D ．《左传》 
2 ．《秋水》 中北海若对“自多”的态度是（A）
A ．反对            B ．赞成
C ．无所谓          D ．顺其自然
3 ．梁启超的《论毅力》 写于（B）
A ．戊戌变法之前    B ．戊戌变法失败后
C ．五四运动之时    D ．五四运动之后
4 ．《郑伯克段于鄢》中“多行不义必自毙”一语指斥的对象是（D）
A ．武姜            B ．郑武公
C ．郑庄公          D ．共叔段
5 ．《李将军列传》 一文中不与李广构成对比关系的人是（D）
A ．匈奴射雕者      B ．李蔡
C ．程不识          D ．王朔
6 ．北宋第一个专事写词的婉约派词人是（C）
A ．苏轼            B ．王安石
C ．柳永            D ．晏殊
7 ．盛唐诗人中，被誉为继屈原之后又一位伟大的浪漫主义诗人的是（C）
A ．杜甫            B ．王维
C ．李白            D ．孟浩然
8 .《关山月》 （和戎诏下十五年）一诗贯穿全诗的线索是（A）
A ．月夜            B ．笛声
C ．泪痕            D ．歌舞
9 ．李煌的《虞美人》 是一首（B）
A ．悼亡词          B ．抒情词
C ．咏物词          D ．怀古词
10 . “求田问舍，怕应羞见，刘郎才气”中刘郎指的是（B）
A ．刘彻            B ．刘备
C ．刘邦            D ．刘裕
11. 王安石《答司马谏议书》采用的驳论方法是（B） 
A. 反驳论据           B. 反驳论点

C. 反驳论证过程       D. 反驳论证方式

12. 冯谖为孟尝君“焚券市义”行为中蕴含着（D）
A. 道家思想          B. 法家思想

C. 人本思想          D. 民本思想

13.《故都的秋》一文的体裁是（A）
A. 游记散文         B. 说理散文 

C. 抒情散文         D. 叙事散文
14.《日出》的情节结构特点是（D）
A. 回顾式写法      B. 开放式写法

C. 闭锁结构        D. 片段写法

15.下列哪位作家是世界三大短篇小说之王之一？（A）
A. 契诃夫         B. 伏尔泰

C. 屠格涅夫       D. 泰戈尔

二、文言文阅读： 

（一）阅读《季氏将伐颛臾》中的一段文字，回答16—18小题：

   孔子曰：“求！周任有言曰：‘陈力就列，不能者止。’危而不持，颠而不扶，则将焉用彼相矣？且尔言过矣，虎兕出于柙，龟玉毁于椟中，是谁之过与？”

16. 将“危而不持，颠而不扶，则将焉用彼相矣”译成现代汉语，并说明孔子用这两句话作为论据的性质，所表达的观点，所运用的论证方法。 
  “盲人站立不稳，不去扶持；将要摔倒了，又不去搀扶，还要搀扶的人做什么呢？” 
    事实论据中的比喻材料；批评冉有、子路的失职，驳斥了冉有推卸责任的说法；由个别到个别的类比法：以不能搀扶盲人的相类比不能辅佐季氏的臣，同为失职。
  17. 将“虎兕出于柙，龟玉毁于椟中”译成现代汉语，并说明这两句话的双重喻义。 
 “老虎犀牛从笼子里跑了出来，龟甲美玉在匣子里被毁坏。”
双重喻意：先说单句表层喻意，将季氏比作虎兕，虎兕出于押，喻季氏出兵侵略；将颛臾比作龟玉，龟玉毁于椟中，喻颛臾无辜受难。再说两句整体深层喻意，将冉有、季路比作守柙护椟之人，说明无论季氏出兵侵略，还是颛臾无辜被毁，冉有、季路都有不可推卸的责任。

18. 本段选文运用了哪些修辞？并举例说明其作用。 
引用：周任有言曰：‘陈力就列，不能者止。'”作用：引名人名言增强说服力。

   比喻：危而不持，颠而不扶；虎兕出于柙，龟玉毁于椟中。作用：形象生动，通俗易懂。

   反语：“焉用彼相矣？” “是谁之过与？”作用：强调对方身在其位，不能陈力尽职。
 （二）阅读下面一段文字，回答19—21小题：

   呜呼！盛衰之理，虽曰天命，岂非人事哉！原庄宗之所以得天下，与其所以失之者，可以知之矣。

19. 文中“原庄宗之所以得天下，与其所以失之者，可以知之矣”这句话的作用是什么？
 引出下文。
20. 这段文字在全文中的作用是什么？
 开宗明义，提出了全文的中心论点，即一个王朝的兴衰，重在人为。
21. 请解释这段文字中加点字的含义。
理：道理。
原：推究本源。
（三）阅读《论毅力》中的一段文字，回答22—24小题：

   孔子曰：“譬如为山，未成一篑，止，吾止也；譬如平地，虽复一篑，进，吾往也。”孟子曰：“有为者，譬若掘井，掘井九仞，而不及泉，犹为弃井也。”成败之数，视此而已。

22. 解释这段文字中加点字的含义，并说明这段文字表明了什么观点？
篑：盛土的竹筐。
平：填平。
弃井：废井。
数：天数、运数，含有规律的意思。
成败的关键在于有无毅力。
23. 这段文字运用了哪几种论证方法？
从逻辑角度说，是类比法、对比法：从修辞角度说，是引证法。
24. 文中所引孔孟的话属于何种论据？哪个成语是由孔子的话引申来的？
理论论据。
功亏一篑。
三、现代文阅读： 

（一）阅读《论快乐》中的一段文字，回答25—27小题：

   穆勒曾把“痛苦的苏格拉底”和“快乐的猪”比较。假使猪真知道快活，那么猪和苏格拉底也相去无几了。猪是否能快乐得像人，我们不知道；但是人会容易满足得像猪，我们是常看见的。把快乐分肉体的和精神的两种，这是最糊涂的分析。一切快乐的享受都属于精神的，尽管快乐的原因是肉体上的物质刺激。小孩子初生了下来，吃饱了奶就乖乖地睡，并不知道什么是快活，虽然它身体感觉舒服。缘故是小孩子的精神和肉体还没有分化，只是混沌的星云状态。洗一个澡，看一朵花，吃一顿饭，假使你觉得快活，并非全因为澡洗得千净，花开得好，或者菜合你口味，主要因为你心上没有挂碍，轻松的灵魂可以专注肉体的感觉，来欣赏，来审定。要是你精神不痛快，像将离别时的筵席，随它怎样烹调得好，吃来只是土气息，泥滋味。那时刻的灵魂，仿佛害病的眼怕见阳光，撕去皮的伤口怕接触空气，虽然空气和阳光都是好东西。快乐时的你，一定心无愧怍。假如你犯罪而真觉快乐，你那时候一定和有道德、有修养的人同样心安理得。有最洁白的良心，跟全没有良心或有最漆黑的良心，效果是相等的。

25. 这段文字运用了什么修辞方法？ 
     比喻。把人生的快乐比作引诱小孩吃药的方糖和像跑狗场里引诱狗赛跑的电兔子。在驳斥穆勒有关“快乐”的见解时，也引用了“痛苦的苏格拉底”和“快乐的猪”两个比喻，这里“痛苦的苏格拉底”主要喻指精神上的快乐，“快乐的猪”是指肉体上的快乐。
26. 简要分析文中运用修辞方法所起的作用。 
 文中这些比喻的使用使文章说理显得生动、有说服力。
27. 这段文字在写作上有何特色？ 
     这段文字在写作上的特色有两点：一是见解深湛、征引繁富、联想丰赡、妙趣横生、词采精妙。作者在提出和论证“快乐由精神来决定”这一论点时，引用古今中外的典籍中许多例证来阐明自己深湛的见解。他引用穆勒的观点，穆勒把“痛苦的苏格拉底”和歼快乐的猪”作比较来说明快乐是有肉体和精神之别的。针对这一观点，作者首先驳斥穆勒观点的荒谬性，提出“一切快乐的享受都是属于精神的”。作者在驳斥穆勒对快乐所下的定义时，很风趣地指出：“猪是否快乐得像人，我们不知道；但是人会容易满足得像猪，我们是常看见的”。二是作者的选词用语也很有特点，不仅词采精妙，而且富于机智。作者善于使用警策语，顺手拈来，即成妙语。如作者描述人在快乐和悲伤时的不同心情和感受时，为反驳将“快乐”两分法的荒谬性，作者指出“一切快乐都是精神上的”。作者举例说明：“洗一个澡，看一朵花，吃一顿饭，假使你觉得快活… … 主要因为你心上没有挂碍… … 要是你精神不痛快，像将离别时的筵席，随它怎样烹调得好，吃来只是土气息，泥滋味。… … ”
（二）阅读《炉中煤》中的一段文字，回答28—30小题：

   啊，我年青的女郎！

   我想我的前身

   原本是有用的栋梁，

   我活埋在地底多年，

   到今朝总得重见天光。

28. 作者借“炉中煤”抒发内心的感觉，这是什么表现方法？ 
 托物言志的表现方法。
29. 怎样理解这一节诗的寓意？ 
     在这节诗中，作者写煤的前身原本是有用的栋梁，但一直被埋在地下，到今天才得以重见天光。诗中其实蕴涵两层含义：一是象征诗人的爱国感情长期埋藏在心底，直到今天才得以喷发。二是象征被封建主义束缚了几千年的中华民族在五四运动之后终于焕发了青春活力和生机。
30.“年青的女郎”的比喻意义是什么？ 
 “年青的女郎”主要比喻五四运动之后的中国。
大学英语部分：
Ⅰ. Phonetics 
Directions : In each of the following groups of words, there are four underlined letters or letter combinations marked A, B, C and D. Compare the underlined parts and identify the one that is different from the others in pronunciation. Mark your answer by blackening the corresponding letter on the Answer Sheet.    l.A .background      B .although      C .blouse       D .amount
2.A .garage          B .damage       C .courage      D .garbage
3.A .civil            B .curriculum    C .crystal       D .country
4.A .baggage         B .suggestion     C .biography   D .paragraph
Ⅱ. Vocabulary and Structure 
Directions : There are 15 incomplete sentences in this section . For each sentence there are four choices marked A , B , C and D . Choose one answer that best completes the sentence and blacken the corresponding letter on the Answer Sheet. 
5. Do you think it necessary____ an English diary every day? 
A. keep        B. to keep        C. keeping        D. kept 
6. ____ have I heard anything like that in my life. 
A. Only       B. Surprisingly     C. Never         D. However 
7.When we woke up, everywhere was ____ snow. 
A. covered     B. covered in      C. covered with    D. covering 
8. More students than one____ there . 
A. has been     B. have been      C. had been       D. would have been 
9. You know that’s right, ____? 
A. is it         B. isn’t it         C. do you         D. don’t you 
10. Those good traditions have been passed____ the younger generation.
A. on to       B.to on            C.cross to      D.to
11. _____ many times, but he still couldn’t understand it.
A. Having been told                B. He was told 

C. Though he had been              D. Having told
12. We had a long telephone ____ yesterday evening.
A. dialogue    B. conversation      C. talk         D. speech
13. How ____ of you to remember my birthday!
A. thoughtful   B. thoughtfully    C. careful      D. carefully 

14. Marry, as well as Tom, ____ a key to the office.
A. have       B. having         C. to have      D. has
Ⅲ. Cloze  

Directions: For each blank in the following passage, there are four choices marked A, B, C and D. Choose the one that is most suitable and mark your answer by blackening the corresponding letter on the Answer Sheet.
When all the people had assembled, the king, surrounded by his court, __15__ a signal. Then a door beneath him opened , and the accused man stepped__16__ into the arena. Directly opposite him were two doors, exactly__17__ and side by side. It was the duty and the privilege of the __18__ on trial to walk directly to these__19__and open one of them. He__20__open either door he pleased; he was subject to no __21__ or influence. If he opened the one, there came out of it a hunger tiger, the __22__ and most cruel that could be found, which __23__ sprang upon him and tore him to pieces as a punishment for his guilt. __24__, if the accused person opened the other door, out of it came a __25__ lady, and to this lady he was immediately married, as a reward of his innocence. This was the__26__method of administering justice. Its perfect fairness is obvious. The criminal could __27__ know out of which door would come the lady; he opened either he pleased, without having the slightest __28__ whether, in the next instant, he was to be devoured or married. So the accused person was instantly__29__ if guilty, and, if innocent, he was rewarded on the spot.
15 . A . give          B . gives         C . gave         D . given 
16 . A . down         B . out           C . in           D . away 
17 . A . alike .         B . different       C . big         D . closed 
18. A . person        B . king          C . people       D . lady 
19 . A . door          B . doors         C . audience     D . signals 
20 . A . should         B . would        C . must        D . could 
21 . A . push           B . direction      C . heading     D . guidance 
22 . A . fiercest         B . wild         C . softest      D . weak 
23 . A . immediately     B . usually       C . sometimes   D . frequently 

24 . A . Therefore       B . Though       C . But         D . When 

25 . A . little           B . angry         C . beautiful     D . old 
26 . A . criminal’s       B . king’s        C . lady’s        D . tiger’s 
27 . A . even           B . also          C . especially     D . not 
28 . A . interest         B . belief         C . idea         D . reason 
29 . A . punish         B . punishing      C . punishes      D . punished
IV. Reading Comprehension 
Directions: There are five reading passages in this part. Each passage is followed by four questions. For each question there are four suggested answers marked A, B, C and D. Choose one best answer and blacken the corresponding letter on the Answer Sheet .
                                  Passage One 
    Only one animal can walk 200 miles without stopping once to rest . It would take a person two days and two nights to walk this far, and only one man has ever done it without stopping. What amazing animal has such endurance? The camel! The camel is well known for something else, too. It can cross an entire desert without a single drink of water. Its body is built in a special way to help it store water and food. 
    A person has just one stomach, but a camel has quite a few. Within each stomach are layers and layers of cells. These cells are like tiny water balloons, storing liquids until the camel needs them. When the camel drinks, the cells grow larger and larger. For a whole week, they can keep the animal’s thirst away by sending water to all parts of its body. 
    And did you ever wonder why the camel has a hump? The hump is a storage place for fat. Because it has this storage area, the camel does not need to eat very often. When the animal needs energy, the layers of fat serve as fuel to keep it going on the long, hot days in the burning sun. 
The camel has one other gift that makes it well suited to arid regions. This gift is its amazing nose. A camel can smell a water hole from miles away! 
    When a camel moves it sways from side to side like a ship on a wavy ocean. Because of this swaying motion, the camel has been called the "Ship of the Desert." 
30. The camel’s hump is a storage place for ____. 
A. muscles          B. extra water          C. body sugars          D. fat 
31. We can conclude from this passage that camels____. 
A. feel at home in the desert                 B. like to carry heavy loads 
C. look like ships from a distance             D. will always be useful 
32. The author compares cells with water balloons in order to ____ . 
A. make you think of summer                B. help you visualize the cells 
C. show how rubber is elastic                D. show how many shapes cells can have
33. The word "arid" is closest in meaning to ____. 
A. sunny            B. flat                C. dry                 D. sandy 
                                 Passage Two 
    A group of scientists rowing toward the center of a lake saw something shocking.They turned back as fast as they could. What had they seen? The lake was boiling! 
    The group was investigating a crater lake in the mountains of St. Vincent. A crater lake is the mouth of a volcano that has been dormant for some time and has filled with water. 

This particular crater was the tip of a volcano called Soufriere, which erupted last in 1902. Since that time, it had not shown any signs of action. But in the fall of 1971, mountain climbers who had hiked near the lake returned to the lowlands with strange stories. They said the water had turned yellow and was giving off a smell like burnt eggs. A seething fog was rising from the lake’s surface. 
Local scientists rushed to Soufriere to see if this might be the beginning of a new volcanic explosion. They found a huge black mass in the middle of the water. It was a great blob l,000 feet long and 300 feet wide. Lava had pushed up through the bottom of the lake and formed a new island.
 The investigators wanted to make sure that the volcano was safe, and that the lava would not overflow into the surrounding countryside.  But they could never reach the island to study it, because the lava was so hot that the water around it bubbled and boiled. 
34. This passage is about ____.
A. mountain climbing              B. a boiling lake 
C. a new volcanic island            D. a mysterious blob 
35. A crater lake is at the tip of a ____. 
A. mountain      B. ridge        C. island        D. volcano 
36 . We can conclude that ____.
A. the situation was nothing to be concerned about 
B. Soufriere is still an active volcano 
C. crater lakes are easy to hike to 
D. Soufriere is a dead volcano 
37. The writer explains the boiling water by using____. 
A. myths       B. humor         C. facts        D. arguments 
Passage Three 

Have you ever heard of a flower whose seeds are carried and spread by elephants? The rafflesia, a rare blossom is very unusual. Found in the rain forests of Sumatra, the rafflesia is the world’s largest flower, measuring three feet in diameter! 
    This giant flower is a parasite-it needs another plant to live on. It lacks the structures needed to survive alone. The rafflesia has no stem or leaves. It is all flower. It attaches itself to the roots of other plants and sucks their juices. The flower’s favorite home is the root of the vine, which grows above ground. 
    The rafflesia seems to burst right out of the forest floor. Its blossom weighs fifteen pounds! It has thick, spotted petals that give off a rotten smell. The center is about the size of a household bucket. After a rain, it may hold up to twelve pints of water! 
    After the rafflesia dies, it becomes a pool of thick liquid in which its seeds float. Elephants wandering through the forest step into the mushy pool, and the seeds glue themselves to their feet . As the animals stomp through the forest, their sticky feet pick up twigs and leaves. The elephants try to rid themselves of the sticky mess, in the same way people try to get bubble gum off their shoes. The elephants rub their feet against the roots of the vine. In no time, seeds left on the vine grow into more monstrous flowers! 
38. Elephants help to ____. 
A. provide food for the giant flower 
B. water the rafflesia with their trunks 
C. carry raffiesia seeds from one place to another 
D. stomp out the awful smelling petals 
39. From this passage, we can guess that the writer ____ 
A. likes elephants                  B. has a very large garden
C. admires the wonders of nature      D. likes to measure things 

40. To give us an idea of how large the rafflesia is, the author uses ____.
A. size of an elephant for comparison   B. measurement
C. comparisons to other flowers       D. detailed descriptions of the flower’s stem
41. As used in this passage, “structures” means____.
A. endurance        B. organization       C. necessary parts     D. energy 

Passage Four 

Many superstitious people are afraid of black cats. They believe that black cats have a strange power. If a black cat crosses their path, they think they will have bad luck. 
    Black cats haven’t always had such a bad reputation. Long ago , the Egyptians thought that black cats were holy animals . They even worshipped them. Pasht was an Egyptian goddess who had a woman’s body and a cat’s head. Because the Egyptians had so much respect for black cats, they often buried the sacred creatures with great ceremony. Mummies of cats have often been found in ancient cemetery ruins. To keep the cats company after they died, mice were sometimes buried beside them. 
Feelings about black cats have always been strong. People have thought they were either very good or very bad. The people of Europe, in the Middle Ages, believed black cats were the evil friends of witches and the Devil. Witches were said to have the power to change themselves into black cats. People believed that you could not tell whether a black cat was just a cat, or whether it was a witch disguising herself as she plotted some evil scheme. The brain of a black cat was thought to be a main ingredient in witch’s brew. 
    Unlike their ancestors of the Middle Ages, Englishmen today consider black cats to be good luck charms. Fishermen’s wives often keep a black eat around so that their husbands will be protected when they are out at sea. 
42. The Egyptian goddess Pasht had a ____· 
A. woman’s head and a cat’s body        B. woman’s head and a lion’s body 
C. cat’s head and a man’s body          D. woman’s body and a cat’s head 
43. Judging from this passage, people of the Middle Ages probably ____. 
A. treated black cats with respect         B. treated black cats badly 

C. were witches if they had black cats     D. thought black cats were beautiful 
44. People of ancient Egypt and Europeans of the Middle Ages____. 
A. both worshipped black cats
B. both feared black cats 
C. thought black cats could bring good luck 
D. felt very different about black cats 
45. “Sacred” means ____. 
A. dead        B. holy        C. black        D. fearful 
V. Daily Conversation
Directions : Pick out five appropriate expressions from the eight choices below and complete the following dialogue by blackening the corresponding letter on the Answer Sheet ·
	A. Maybe I should call a taxi                    B. can you help me
C. it’s the second left                           D. not really
E. at the traffic lights                           F. Not at all
G. Museum Drive                             H. Thanks again


Tourist: Excuse me, __46B__? I’m lost!  
Person: Certainly, where would you like to go? 
Tourist: I’d like to go to the museum, but I can’t find it. Is it far?  
Person: No, __47D__. It’s about a 5 minute walk. Now, go along this street to the traffic lights. 
Do you see them? 
Tourist: Yes, I can see them. 
Person: Right, __48E__, turn left into Queen Mary Avenue. 
Tourist: Queen Mary Avenue. 
Person: Right. Go straight on. Take the second left and enter Museum Drive. 
Tourist: OK .Queen Mary Avenue, straight on and then the second left，__49G__. 
Person: Right. Just follow Museum Drive and the museum is at the end of the road. 
Tourist: Great. Thanks for your help. 
Person: __50F__. 





















































